[

;1

@J“ &Er:? I’ _i-.‘ffl ]
10, 000 -2/,

Q

W £ &2

=2 7KE FLHI
0.01mEL E0.2m*% i
0.2myL E0.5mKii
0.5mELE1.0mkK i
1.0mEL E2.0mskiiE
2.0mLLE5.0mEE
B somut

'-‘--Ii)-TU Ve NN 122200 0 N e D,




E ] -
oy _H.\ b o T

P 1| A

’_’///

L 1) B
" 127

e

e M

[ fZZmy r 1100 i
J7” $=1:10, 000 ,

Pral
),
AR
v
o \\ \
. Y &
N "y ™~ LT
¢ |11 S !
. «r‘«'.T;—.ﬂk 2 B /
Ao _ . "’:-r:..-‘:' 1 :
= & Tl S = y : |
L = Wil f r_r..' H ¥ :
s Y o r ; . e
LA >l o asstEg
// ,)‘ " & J-.'.‘t'__L 2 4
W 4 0 .‘.|;1:
‘/ e 2 {
F ; g
I "
4 s .
u//
ye
" . B 4
g |
2, "

0.5mKiim D X1
0.5~1.0mak i 0 K 5

1.0~2.0msF DR 7)
2.0~5.0m i D X 2
5.0mil DR X

| W edt
N B TN 777 AT VS —"—y A If




7900~

7800

7700\

7600

7500 22

7400

7300 L ==
7200 =

7100 /,

7000

6900
68007~

6700

6600

6500

6300

6200

6100

6000

5900 |-
i
5800 -

5700

5600

5400

| I ‘ J/’ C = y
\ \\.ﬁ‘,‘ \ \ / {{(_- . 0.5m/sElE 1.5m/ski /f,,/ \1\}&3} ) /. W

5500 |~

—

I\ SZ 2= /N 1 N BN 577 4T VA SN = I
BWO% f_’/l}é\;‘:f%) )|1' \ .F - T . @%x;ﬁﬂﬁ\#ﬁ L‘

NI | X o - [y E [
VoW AR /5=1:10,000 L~

g_,/' Py oY
— (e r“./ . ‘\. By = 3 o
= , &7 AN VY sk Ty
[ =, BI04 ) - i 7 L
" J I oe, 4

e T P
e et

4%,
7 .

1% LY .
\ 8 : 00tmisELE O.5miskis |l ' ;

- ACEST INDR
ot (& (&\Rz\}q,ﬂ

T~ i:f'll\‘ i

£
-12000 -11900 -11800 -11700 -11600 -11500 -11400 -11300 -11200 -11100 -11000 -10900 -10800 -10700 -10600 -10500 -1040

’ NS BN
W28
PYN \?f(j/?f#f*" F?‘?/Lﬁi?; 7

O (S :
NN S S

14
|



O Y TR

I~

ERFQOFRKER

Loy (fL — JT"S!;" S
PR TR C =22

NP E




it

% (E)

1:10, 000

B iR (3)

Y ES)

Ferf ey AR N A (S

] iy
£ -
k3 3
v S
3 20|k S
{ a_’| QUL HL |-l
e
A a-_*-,-;;}

A R



